_ Complete the following statements:
(a) Asasolution’s pOH value and [H;0*] both decrease, the solution becomes more
basic). '

(acidic or

(b) As a solution’s pH value and [OH-] both decrease, the solution becomes more A DI L (addicor

basic)
(c) The F VW (sum or product) of the [H,0*] and [OH"] equals K,
{(d) The 5 UAn ___(sum or product) of pH and pOH equals pK,,.

6. Complete the following table, expressing each value to the proper number of significant figures.
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7. For pure water at 60.0°C, the value of pK_ = 13.02. Calculate the pH at this temperature and decide if the water is
acidic, basic, or neutral. |
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8. Calculate the pH of a 0.30 M solution of Sr(OH),. ‘ - L(inméim
Svlory, —» S +as=H"  poH-= -leg Low) :

Low) = aUsc(w),) - b.22
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2.8
9. A2.00gsample of pure NaOH is dissolved in water to produce 500.0 mLofsoittion. Calculate the pH of this
solution..
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10. A sample of Hl is dissolved in water to make 2.0 L of solution. The pH of this solution is found to be 2.50
Calculate the mass of Hi dissolved in this solution.

pr= 2so [izo™)= [wi)
-pH : ‘ .
(0"} = 10 o Zaxs S Mol x 200 12749
- gb”?”g N ‘ L lhrol
3.1 x10 "M jﬁ”ﬁgﬁ@ }
_ 11. Complete the following table, expressing each value to the prope?—;:r;rg:r o?:;mﬁcant figures.
' [H,0"] o [OHT | poH o pH ' Acidic/Basic/Neutral
5.620 % 105 M Lodxio ™ q.gT | 4,250 Addic
S 7.2‘L><%@”*’M 0.000450 M 2,3u7 (0¢%p§77 BM’C '
2.2x107% M szxm””’M 12.50 [.S0 AO\M
. -4 - - ,
2x 100 M | Zxlo tm 2.5 105 Bo Sl U
12. Calculate the pH resulting from mixing 75.0 mL 0f0.50 M HN(V)3 with 125.0 mL of a solution containing 0.20 g
NaOH. ' CH0*) = 0.4€75m
Tiot) = CV, = (050M)(15.0m0) . 0. 1815 m ER
N - D. 0L
Vo 200-0mbL .
~ = 0.lb2sm
Low) - @,;0\9 w _ lnoj - D.o25 m
O.2000L H4o.09 ‘ &D = - 115 CHy0vT)
101 1

13. Calculate the pH of the solution that results from mixing 200.0 mL of a solution with a pHﬁ?Bthh 3000 mLofa
solution having a pOH of 1.50.

g@mm Modic  Sphlen B - Basic Low™) =o.0189bm~

= Ll 6 o126 M

) ) 00 . Dk _ ;
a?;,oo ol bOH = "l abx (o M
‘F’H‘ .o "“ ‘ Cou-J = 3 Pc: 4 PUH‘; wloj((a‘%bxlo”'}m)
» -pl
Cwyo*) = 107F | = 2,20
Com QY 003t pr = Lo
Lo ivt =( o 0)’”")(;“?3“‘;”;;‘) O.olrbm (0 03l b) ryo ML)" 6.013qLm
i 14. Calculate the pH of a solution that is produced When 3.2 g of Hl is added to 500.0 mL of a solution having a pH of
13.00. Assume no volume change. } ()A
329 Hl x _Imel =0.0500m LOoH7) o O oM~ OpSom
0.cooolL t=7.4 9 Z 0,050 m
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v T = j((ﬁ 0S om)
poH = l.o0 o
| = 1.3D
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